FAERREREDFEHREFKTRBE—F AV

RBB(SMESA 148  RLUB B DFERAR—YIT4—ILFAR]
1 p) 3

WE=Z1—853yHR
HRE FE 182 K%0 28:F0 38: £

SPREMR(SH4ES R 14H : RIUB B =D DFERAR—YI71—ILFAE]
BEKEI7(3—X

BREE M) 182 EF 2811 38 =H

709 F—Lk HE
A KBHEYITAE—ZX  WF 0
7/31 9:30
@ LSam 7z " RS- STRIFIBCED) 4 10
B = ~ - —_—
- 8/6~13DMIT
4T — LRI TH
c BEBERIvH—X G ! B
7/31 9:30 3
. _ IRSTRNENIBOED|g
D HFHHEI7M53—X NS 814 1230
_ LB B = D FESF-AE
E MEZ1—tI3IvIR G 9
7/31 11:30
i h2 " JIIRS ST IHCER | 13
F R v—
L 8/6~13DMT 3
HHTF—LRETTH
G B/NET7A5—X Gt w0
7/31 11:30 5
. JIIRA-STR I BOER |
H SEWFA—JILR |
SLLRTEH
Oy EBRETROLSITVET BRBHI7(5—X ———s
7R318 (B)FHI8E305 &Y e 5 AT
F L& 8k FNET7(8—R s !

MEAIBRERRITIOKmELT)TERELLET .

N =~ I p\& g

12



FAEREREVEHFREFKE DBAER

®T AZav) HEe | B¥ | A% | 510 | BR | &8 | &= =
Y | BT | KEBEAHEYIT7(2—X 4 3 1 0 6 42 15 27
BT |FERFF—X 4 1 2 1 3 16 21 A5
#©7 (AL aR—IS—F 1> 4 2 2 0 4 16 24 A8
BT |N\KEI57 4 2 1 1 5 22 14 8
BT [ HYAZTURR 4 1 3 0 2 17 39| A 22

9/10 B7AvY HEe | B¥ | A% | 51 | BR | &8 | &= =
BT\ YD1 =F7—X 4 2 2 0 4 19 24 A5
BT |HR—a2T 4 1 2 1 3 35 37 A2
| BT|BED2Z7—X 4 4 0 0 8 62 13 49
ErIBS 12T IR 3 1 2 0 2 6 25| A 19
FRWUAR—D X 3 0 2 1 1 20 431 A 23

5/6 covy HEe | B¥ | A% | 51 | BR | &8 | &= =
WERSYH—X 2 1 1 0 2 17 15 2
W | BT [FBRERDYA—X 3 3 0 0 6 27 6 21
BT |MEAT7—X 3 1 2 0 2 32 21 11
GBCiiLL 2 0 2 0 0 2 36| A 34

®T D7AvY HEe | B¥ | A% | 51 | BR | &8 | &R =
W | BT |BHEHI7A(I—X 3 2 1 0 4 45 14 31
77 I s—H—X 3 0 3 0 0 4 60| A 56
BT [h—FILR 3 2 1 0 4 19 19 0
7 |RIGFLB 3 2 1 0 4 37 12 25

5/6 EJOvY HEe | B¥ | A% | 51 | BR | &8 | &R =
INEREYR)— 2 0 2 0 0 2 15| A 13
Y | BT |MEZ2—EI3IVIR 3 3 0 0 6 22 5 17
“®1|[maEys—H—X 3 2 1 0 4 29 9 20
R —D R 2 0 2 0 0 3 271 A 24

®T F7av% HEe | B¥ | A% | 51 | BR | &8 | &= =
BT 2RSS —OR 3 2 1 0 4 17 10 7
Yo | BT |RyEDY—DR 3 2 1 0 4 23 13 10
“TIIRNEI7z=vHR 3 2 1 0 4 19 15 4
BT |mRI7A5—X 3 0 3 0 0 13 34| A 21

5/6 GJovy HEe | B¥ | A% | 51 | BR | &8 | &R =
AFAYY 2 0 2 0 0 7 300 A 23
BT |BHFRADYH—X 3 2 1 0 4 35 15 20
INBRSAA VX 2 0 2 0 0 1 22| A 21
¥ |87 [RINEDT7AE—X 3 3 0 0 6 27 3 24

®T H7BavY HEe | B¥ | A% | 51 | BR | &8 | &= =
BT | FNLYRFRE—X 3 1 2 0 2 10 25| A 15
Y | T ([BEES/—TILR 3 3 0 0 6 30 9 21
BT |EEHR—X 3 2 1 0 4 28 19 9
BT |RIrBo57 3 0 3 0 0 15 30 A 15




FAIRREBFEVEFREFAS JTOvIRIRER

(AJnvY]

| HBRT sty 7 45-x| B Ko F—X | iz—s—r1v| A\KBS ST [buscrorz|ma|mu|ansis|ma|es|xs] 2

Yo [KiEBEY D74 5—X 90 0/ 120 3 1 @i 102 O 2 4 3 1| o 6| 42| 15 27
BEFYF—X 0@ 9 5@ 6 A 3 80O 3 4 1| 2 1| 3 16 21|a5
wR—K—F1> | 3 @ 12/ 6 0 5 ® 3 50 4 4 2/ 2| of 4 16 24|28
NA#Y 5T 1000 1 3 A 3 307 2 — 6 @ 8 4 2| 1] 1] 5| 22| 14| 8
BYAZT PR 2@ 200 3@ 8 4@ 5 80 6 al 1| 3| o 2 17| 39a 2

(BImwvY]

ol 9/10 Nt$oazr—x| HR—A U5 |BES 17— X srmvazroox| Flkh—4 2 | 3| malamn 2ol maleslas] 2
NEH YT 2=F—X 5@ 6 0@ 13 9O 1l 50 4 4 2/ 2 0| 4 19] 24/a 5
HR—1 25 60 5 ne 13 2@ 3 164 16 4 1 2f 1| 3 35 37/a2

% [Btva=7—x | 13 O 0 13 O 1 14 O 2] 22 0 o 4 4 of o 8 62 13| 49
#r#va=774% 1 @ 9 30 2 2 @ 14 3 1| 2| o 2 6| 25(a 19
FlR—5 X 4 @ 5 16 A 16 0 @ 22 3 of 2f 1| 1| 20 43}a

(cTnvy’]

ol 5/6 RFRSyA—X| PSRy A—X| MEAT—X | GBCHIL |Ha|Mu| &% 315 | Ha|es|xs| 2
BFRS v H—X 4@ 6 130 9 2| 1| 1| of 2f 17] 15 2

* |BFBRUH—X 60 4 70 1140 1| 3 3 of of 6 21| 6| 21
MEAT—Z se 13 1@ 7 220 1| 3] 1| 2| o 2| 32| 21| 11
G B CHL @ 14 1 @ 22 2| of 2| of of 2| 36/asa

(DImvyY]

éﬂﬁ HERIE T BHEHI 74 54— X| LY —H—X| h—SFILR RIBFLB  |H& || axlsis | Ba|Bs| &a| &

% | BEBT7A5—X 2.0 0| 8 @ 9/ 10 O 5 3 2/ 1| 0| 4] 45/ 14| 31
Wil 5 —H— X 0@ 27 4@ 8 ® 25 3 o 3 0] 0] 4] 60[ass
h—SF IR 90 8 80O 4 2@ 7| 3 2 1| of 4f 19 19 o0
FUAFLB 5 @ 10/ 25 O 70 2 3 2| 1| of 4| 37| 12| 25

(EJdnvY]

ol 5/6 NEREY bU—|n=a—es300a | RS —H—X| RS v—0 X | HA | B A% 315 | s B xA| 2
IEFEY bY— 1@ 5 1 @ 10 2| of 2| of of 2| 152

% [g=a—t53952| 5 O | 70 20100 2 3 3 o of 6 22 5 17
WEY—Hi—X 100 1 2@ 7 170 1] 8] 2| 1| 0] 4] 29| 9| 20
FLS v —2 2 2@ 10 1 @ 17 2| of 2| of of 3| 27|a

(FInvY]

zn HEBRT EURSAA=IR| Ky ESv—y R |TRNET R | BRT 7 A 2 —X | e | B M| 315 BA |8 xR| 2
Y b SLS—H R 20 1| 2@ 7130 2/ 3 2 1| of 4 17| 10| 7

* [ RrEYT—5 R 1@ 2 10 0 3120 8 3 2/ 1| 0 4] 23 13 10
IFN&Yz=vs2| 7.0 2| 3 @ 10 9 0 3| 3 2 1| of 4| 19 15| 4
mRI7(5—ZX | 2@ 13 8 @ 12| 3 @ 9 3 0| 3| of of 13 34]az

(GTmwvY]

ol 5/6 BEEAYY |BRASvH—X|MBASIAUX|mneT715—x| e | | ez males|es| 2
EEA VY 6 @ 22 1@ 8 2/ o 2/ o of 7| 30as
BET v H—X 220 6 1Mo 1 ® 8 3 2[ 1| of 4] 35 15 20
INERSA AU 1@ 11 0 @ 11| 2| of 2| of of 1| 22/a
mieT745—X| 8 0. 1| 80 2/ 1.0 0 3 3| of of 6| 27| 3| 24

(HOmwvY]

i AT FlLy K25—X| BEB(—F LR | HESHHR—A X| Hir 05T |Hea| M| A 315 Ba| 8a|xs| 2
ThLy FRE—X o00@ 11| o @ 10100 4 3 1| 2[ o 2 10] 25/a1s

% |@mEA—sLZ | 11O 0 100 7 90 3 3| of of 6| 30 of 21
TRHK—A X 10 O 7@ 10 110 o 3 2| 1| of 4f 28 19/ 9
Hiriy 57 4@ 100 2@ 9 9 @ I 3 o 3 of of 15 30|as




